高等数学B—复习题5

一、一选择题
1.函数[image: image1.png]


则[image: image2.png]


．
A.正确
B.不正确
答案：A
2.极限[image: image3.png]


．
A.正确
B.不正确
答案：A

3.定积分[image: image4.png]['sac
<
0




．
A.正确
B.不正确
答案：B
4.点[image: image5.png]


是函数[image: image6.png]


的间断点．
A.正确
B.不正确
答案：B
二、二选择题
5.[image: image7.png]flx)=lnx



在[image: image8.png](0.4+)



内是单调增加的函数．
A.正确
B.不正确
答案：A

6.[image: image9.png]


是微分方程 [image: image10.png]


的解．
A.正确
B.不正确
答案：B

7. 极限[image: image11.png]lim(1-x") =0




．
A.正确
B.不正确
答案：B
8.不定积分[image: image12.png][idx:}ln\x\fc
L



．
A.正确
B.不正确
答案：A
9.设函数[image: image13.png]


，则[image: image14.png]


．
A.正确
B.不正确
答案：B

10.设函数 [image: image15.png]


，则 [image: image16.png]


．
A.正确
B.不正确
答案：A

三、三选择题
11.设函数[image: image17.png]= +cosx




，则[image: image18.png]


（      ）．
A.[image: image19.png](2x—sin x)dx




B.[image: image20.png](x* —sinx)dx




C.[image: image21.png](2x+sin x)dx




D.[image: image22.png]( +sinx)dx




答案：A
12.函数[image: image23.png]


的图形如图示，则在区间[image: image24.png](=0, +)



内(    )．
[image: image25.png]



A.曲线[image: image26.png]


是凸的
B.曲线[image: image27.png]


是凹的
C.函数[image: image28.png]flx)



单调增加
D.函数[image: image29.png]flx)



单调减少
答案：B
13.极限[image: image30.png]


(   )．
A.[image: image31.png]



B.[image: image32.png]



C.[image: image33.png]



D.[image: image34.png]



答案：D
14.设函数[image: image35.png]y=x+




，则[image: image36.png]


（  ）．
A.[image: image37.png]



B.[image: image38.png]



C.[image: image39.png]1+¢*




D.[image: image40.png]



答案：C
15.定积分[image: image41.png]


（    ）．
A.[image: image42.png]



B.[image: image43.png]



C.[image: image44.png]



D.[image: image45.png]



答案：D
16.[image: image46.png]dris
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（    ）．
A.[image: image47.png]



B.[image: image48.png]



C.[image: image49.png]



D.[image: image50.png]



答案：C
四、四选择题
17.不定积分[image: image51.png][ e



(   )．
A.[image: image52.png]



B.[image: image53.png]



C.[image: image54.png]



D.[image: image55.png]



答案：C
18.曲线[image: image56.png]


的拐点为（     ）．
A.[image: image57.png](1.-3)




B.[image: image58.png]0.1)




C.[image: image59.png](-2.-3)




D.[image: image60.png](-L-1




答案：D
19.微分方程 [image: image61.png]d_ x
I cosy




 的通解是（   ）．
A.[image: image62.png]



B.[image: image63.png]



C.[image: image64.png]Es
cosy=2+C
2




D.[image: image65.png]Es
cosy=-2+C
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答案：B
20.定积分[image: image66.png]


（    ）．
A.[image: image67.png]



B.[image: image68.png]



C.[image: image69.png]



D.[image: image70.png]



答案：A
1

